
, 
;' ,' ,/ 

1
' ,' , I 

: ;' ,' ,/ 
;' / : , / 

I /,, 
I / / 
I 

/ / 

CLIMBING LADDER ON THIS FACE 
(IF APPLICABLE) 
SEE NOTE 4 

, 

;' / ,/ 
;' / ,/ 

;' / , I 
;' ,' ,/ 

;' / ,/ 1
' ,',/ 

, 
,' 

i 
I 

� 

ITEM 

1. 
2. 
3. 
4. 
5. 
6. 
7. 
8. 

C1O1OO324 UNIVERSAL QUAD MOUNT 
QTY. PART NO. DESCRIPTION WEIGHT 

8 CW01448 WELDMENT, QUAD ARM 474 
8 CW01449 WELDMENT, QUAD ARM CLAMP 236 
8 CS03768 PLATE, CROSSOVER ( 4" TO 4 1 /2" PIPE) 103 
6 C10901460 PIPE, 4 1/2 O.D. X .337 X 9'-0 841 
4 CS03769 PLATE, CROSSOVER ( 4 1 /2" TO 4 1 /2" PIPE) 54 

32 C40032024 THREADED ROD ASSEMBLY, 5/8 '1J X 1 '-2 (A36) 45 
32 C40034032 U-BOLT ASSEMBLY, 5/8 '1J X 5 3/16" C-C 69 
16 C40034030 U-BOLT ASSEMBLY, 5/8 '1J X 4 11/16" C-C 33 

TOTAL WEIGHT 1855 

�/ ���r======T'\., �.: \ ,, \ ,
\\ ii 

� 

NOTES: 
1. THIS QUAD MOUNTING FRAME WILL ATTACH TO 1 3/4" TO 5 9/16" DIA.

TOWER LEGS ON TOWER SECTIONS WITH 5'-o" TO 7'-o" FACE SPREADS. 
2. STANDOFFS NEED TO BE MOUNTED AS CLOSE TO PANEL POINTS (BRACING 

MEMBER TO TO LEG CONNECTIONS) AS POSSIBLE, AND LOCAL EFFECTS ON THE
TOWER LEGS NEED TO BE REVIEWED BY THE ENGINEER OF RECORD. IN SOME 
CASES TOWER REINFORCING MAY BE REQUIRED. 

3. V-BOOMS, ORDERED SEPARATELY, ARE TO BE MOUNTED AS SHOWN, WITH TWO
ON THE MOUNTING PIPES AND TWO DIRECTLY TO THE TOWER LEGS. ADJUST 
V-BOOMS VERTICALLY SO THAT THEY ARE ALL AT THE SAME ELEVATION.

4. QUAD MOUNTING FRAME MUST MOUNT ON TOWER FACES ADJACENT TO LADDER.

\ ,, 
I I 

\\ ii

I 0 

• i 

\\j·�· 

• 
1 

I V-BOOM ( ORDERED SEP ARA TEL Y)

UNLESS OTHERWISE SPECIFIED 
ALL DIMENSIONS INCLUDE 

FINISHES AND ARE IN INCHES 

TOLERANCES: FRACTIONS ± 1/16" 
ANGLES ± 1/2 DEG. 
DECIMALS ± .010"

SEE NOTE 3 

MA1ERIAL: 

Sabre Industries) 
Towers and Poles TOLERANCES DO NOT APPLY 

TO RAW MA1ERIAL 

CONFIDENTIAL 
t--+------t-t--+---------------t This document and the information 

contained herein is the confidential trade 
>--+-------<-+--+---------------, secret property of Sabre Communications 
1--+------t-1--+---------------t Corporation ("Sabre") and must not be 
1--+------t-1--+---------------t reproduced, copied or used, in whole or in 
1--+------t-1--+---------------t part, for any purpose without the prior 
>--+-------<-+--+---------------t written consent of Sabre. 
1--+------t-t--+---------------1 (0 2020 Sabre Communications Corporation. 
REV DA 1E DRW CHK DESCRIPTION All ri hts reserved. 

UNIVERSAL QUAD MOUNT FOR 
STRAIGHT OR TAPERED 

SELF SUPPORTING TOWER SECTIONS 

SIZE 

DATE 03/12/20 B 
DRAWN BY WRF 
CHECKED BY WMN 

DRAWING NO. 

C10100324 
SCALE 

None 

REV 

0 

PAGE 
1 OF 3 

AutoCAD SHX Text
TOLERANCES: FRACTIONS %%p 1/16"

AutoCAD SHX Text
ANGLES %%p 1/2 DEG.

AutoCAD SHX Text
DECIMALS %%p .O10"

AutoCAD SHX Text
DATE

AutoCAD SHX Text
REV

AutoCAD SHX Text
CHK

AutoCAD SHX Text
DRW

AutoCAD SHX Text
FINISHES AND ARE IN INCHES

AutoCAD SHX Text
ALL DIMENSIONS INCLUDE

AutoCAD SHX Text
UNLESS OTHERWISE SPECIFIED

AutoCAD SHX Text
TO RAW MATERIAL

AutoCAD SHX Text
TOLERANCES DO NOT APPLY

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRAWN BY

AutoCAD SHX Text
CHECKED BY

AutoCAD SHX Text
B

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
PAGE

AutoCAD SHX Text
REV

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
OF

AutoCAD SHX Text
CONFIDENTIAL

AutoCAD SHX Text
This document and the information contained herein is the confidential trade secret property of Sabre Communications Corporation ("Sabre") and must not be reproduced, copied or used, in whole or in part, for any purpose without the prior written consent of Sabre.

AutoCAD SHX Text
  2020 Sabre Communications Corporation. All rights reserved.

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
M

AutoCAD SHX Text
C10100324

AutoCAD SHX Text
0

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
None

AutoCAD SHX Text
03/12/20

AutoCAD SHX Text
WRF

AutoCAD SHX Text
WMN

AutoCAD SHX Text
1.

AutoCAD SHX Text
8

AutoCAD SHX Text
CW01448

AutoCAD SHX Text
WELDMENT, QUAD ARM

AutoCAD SHX Text
474

AutoCAD SHX Text
2.

AutoCAD SHX Text
8

AutoCAD SHX Text
CW01449

AutoCAD SHX Text
WELDMENT, QUAD ARM CLAMP

AutoCAD SHX Text
236

AutoCAD SHX Text
TOTAL WEIGHT

AutoCAD SHX Text
1855

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
WEIGHT

AutoCAD SHX Text
C10100324 UNIVERSAL QUAD MOUNT

AutoCAD SHX Text
3.

AutoCAD SHX Text
8

AutoCAD SHX Text
CS03768

AutoCAD SHX Text
PLATE, CROSSOVER (4" TO 4 1/2" PIPE)

AutoCAD SHX Text
103

AutoCAD SHX Text
5.

AutoCAD SHX Text
4

AutoCAD SHX Text
CS03769

AutoCAD SHX Text
PLATE, CROSSOVER (4 1/2" TO 4 1/2" PIPE)

AutoCAD SHX Text
54

AutoCAD SHX Text
4.

AutoCAD SHX Text
6

AutoCAD SHX Text
C10901460

AutoCAD SHX Text
PIPE, 4 1/2 O.D. X .337 X 9'-0

AutoCAD SHX Text
841

AutoCAD SHX Text
6.

AutoCAD SHX Text
32

AutoCAD SHX Text
C40032024

AutoCAD SHX Text
THREADED ROD ASSEMBLY, 5/8 %%C X 1'-2 (A36)

AutoCAD SHX Text
45

AutoCAD SHX Text
7.

AutoCAD SHX Text
32

AutoCAD SHX Text
C40034032

AutoCAD SHX Text
U-BOLT ASSEMBLY, 5/8 %%C X 5 3/16" C-C

AutoCAD SHX Text
69

AutoCAD SHX Text
8.

AutoCAD SHX Text
16

AutoCAD SHX Text
C40034030

AutoCAD SHX Text
U-BOLT ASSEMBLY, 5/8 %%C X 4 11/16" C-C

AutoCAD SHX Text
33

AutoCAD SHX Text
TOP VIEW

AutoCAD SHX Text
SHOWING V-BOOMS

AutoCAD SHX Text
V-BOOM (ORDERED SEPARATELY)

AutoCAD SHX Text
SEE NOTE 3

AutoCAD SHX Text
ISOMETRIC VIEW

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
3. V-BOOMS, ORDERED SEPARATELY, ARE TO BE MOUNTED AS SHOWN, WITH TWO

AutoCAD SHX Text
ON THE MOUNTING PIPES AND TWO DIRECTLY TO THE TOWER LEGS. ADJUST

AutoCAD SHX Text
V-BOOMS VERTICALLY SO THAT THEY ARE ALL AT THE SAME ELEVATION.

AutoCAD SHX Text
2. STANDOFFS NEED TO BE MOUNTED AS CLOSE TO PANEL POINTS (BRACING

AutoCAD SHX Text
MEMBER TO TO LEG CONNECTIONS) AS POSSIBLE, AND LOCAL EFFECTS ON THE

AutoCAD SHX Text
UNIVERSAL QUAD MOUNT FOR STRAIGHT OR TAPERED  SELF SUPPORTING TOWER SECTIONS

AutoCAD SHX Text
4. QUAD MOUNTING FRAME MUST MOUNT ON TOWER FACES ADJACENT TO LADDER.

AutoCAD SHX Text
TOWER LEGS NEED TO BE REVIEWED BY THE ENGINEER OF RECORD. IN SOME

AutoCAD SHX Text
CASES TOWER REINFORCING MAY BE REQUIRED.

AutoCAD SHX Text
1. THIS QUAD MOUNTING FRAME WILL ATTACH TO 1 3/4" TO 5 9/16" DIA.

AutoCAD SHX Text
TOWER LEGS ON TOWER SECTIONS WITH 5'-0" TO 7'-0" FACE SPREADS.

AutoCAD SHX Text
CLIMBING LADDER ON THIS FACE

AutoCAD SHX Text
(IF APPLICABLE)

AutoCAD SHX Text
SEE NOTE 4



A-A

2

B-B

3

AutoCAD SHX Text
REQUIRED

AutoCAD SHX Text
REQUIRED

AutoCAD SHX Text
AT LOWER BRACKET

AutoCAD SHX Text
7'-0" MAX. FACE SPREAD

AutoCAD SHX Text
FROM LEG CENTER

AutoCAD SHX Text
TOLERANCES: FRACTIONS %%p 1/16"

AutoCAD SHX Text
ANGLES %%p 1/2 DEG.

AutoCAD SHX Text
DECIMALS %%p .O10"

AutoCAD SHX Text
DATE

AutoCAD SHX Text
REV

AutoCAD SHX Text
CHK

AutoCAD SHX Text
DRW

AutoCAD SHX Text
FINISHES AND ARE IN INCHES

AutoCAD SHX Text
ALL DIMENSIONS INCLUDE

AutoCAD SHX Text
UNLESS OTHERWISE SPECIFIED

AutoCAD SHX Text
TO RAW MATERIAL

AutoCAD SHX Text
TOLERANCES DO NOT APPLY

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRAWN BY

AutoCAD SHX Text
CHECKED BY

AutoCAD SHX Text
B

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
PAGE

AutoCAD SHX Text
REV

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
OF

AutoCAD SHX Text
CONFIDENTIAL

AutoCAD SHX Text
This document and the information contained herein is the confidential trade secret property of Sabre Communications Corporation ("Sabre") and must not be reproduced, copied or used, in whole or in part, for any purpose without the prior written consent of Sabre.

AutoCAD SHX Text
  2020 Sabre Communications Corporation. All rights reserved.

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
M

AutoCAD SHX Text
C10100324

AutoCAD SHX Text
0

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
None

AutoCAD SHX Text
03/12/20

AutoCAD SHX Text
WRF

AutoCAD SHX Text
WMN

AutoCAD SHX Text
TOP VIEW

AutoCAD SHX Text
VIEW A-A

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
TYP

AutoCAD SHX Text
TYP

AutoCAD SHX Text
4

AutoCAD SHX Text
TYP

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
TYP

AutoCAD SHX Text
2

AutoCAD SHX Text
TYP

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
8

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
7

AutoCAD SHX Text
UNIVERSAL QUAD MOUNT FOR STRAIGHT OR TAPERED  SELF SUPPORTING TOWER SECTIONS

AutoCAD SHX Text
6

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
6

AutoCAD SHX Text
TYP

AutoCAD SHX Text
7

AutoCAD SHX Text
SEE ARM CONNECTION DETAIL

AutoCAD SHX Text
ON PAGE 3

AutoCAD SHX Text
CLIMBING LADDER ON THIS FACE

AutoCAD SHX Text
(IF APPLICABLE)

AutoCAD SHX Text
SEE NOTE 4

Z Amin
Stamp



AutoCAD SHX Text
(SEE PAGE 2)

AutoCAD SHX Text
TOLERANCES: FRACTIONS %%p 1/16"

AutoCAD SHX Text
ANGLES %%p 1/2 DEG.

AutoCAD SHX Text
DECIMALS %%p .O10"

AutoCAD SHX Text
DATE

AutoCAD SHX Text
REV

AutoCAD SHX Text
CHK

AutoCAD SHX Text
DRW

AutoCAD SHX Text
FINISHES AND ARE IN INCHES

AutoCAD SHX Text
ALL DIMENSIONS INCLUDE

AutoCAD SHX Text
UNLESS OTHERWISE SPECIFIED

AutoCAD SHX Text
TO RAW MATERIAL

AutoCAD SHX Text
TOLERANCES DO NOT APPLY

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRAWN BY

AutoCAD SHX Text
CHECKED BY

AutoCAD SHX Text
B

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
PAGE

AutoCAD SHX Text
REV

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
OF

AutoCAD SHX Text
CONFIDENTIAL

AutoCAD SHX Text
This document and the information contained herein is the confidential trade secret property of Sabre Communications Corporation ("Sabre") and must not be reproduced, copied or used, in whole or in part, for any purpose without the prior written consent of Sabre.

AutoCAD SHX Text
  2020 Sabre Communications Corporation. All rights reserved.

AutoCAD SHX Text
C

AutoCAD SHX Text
T

AutoCAD SHX Text
M

AutoCAD SHX Text
C10100324

AutoCAD SHX Text
0

AutoCAD SHX Text
3

AutoCAD SHX Text
3

AutoCAD SHX Text
None

AutoCAD SHX Text
03/12/20

AutoCAD SHX Text
WRF

AutoCAD SHX Text
WMN

AutoCAD SHX Text
UNIVERSAL QUAD MOUNT FOR STRAIGHT OR TAPERED  SELF SUPPORTING TOWER SECTIONS

AutoCAD SHX Text
ARM CONNECTION DETAIL

AutoCAD SHX Text
VIEW B-B

AutoCAD SHX Text
TYPICAL 8 PLACES

AutoCAD SHX Text
TOWER LEG

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
TOWER LEG

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
6

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
7

AutoCAD SHX Text
8

Z Amin
Stamp


	Sheets and Views
	C10100324-Layout1
	OLE1

	C10100324-Layout2
	OLE1

	C10100324-Layout3
	OLE1



